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Subject Constable GD Examination 2024

Section : Part-A-General Intelligence and Reasoning

Q1

Ans

o 1.

Q2 Which of the following groups of letters when sequentially placed from left to right will complete the given series?

ghijkg_ijkg_ijk_hijkghij_
Ans i hhgk
2. kgih
3. ijkg
4. hghg




Q.3

Ans

s 4
2.3
3. 2
4. 1

Q.4

Ans

1. Daniel
2. Ben
« 3. Chloe
4. Aaron

Q.5

Ans

1. Rohit
+ 2. Reena

3. Monika

4. Priva

Q.6

Ans

1. 31
2. 20
3. 35

¥4 29

Q.7

Ans

A series is given with one term missing. Select the correct alternative from the given ones that will complete the series.

NRT, MQS, LPR, KOQ, ?
. KLR
2. MNP

W 3. JNP
4. JKL




Q.8

Ans 1. 495
2. 465
3. 425
4. 520
Q.9

Ans 151243
2. 15234

3. 15324

¥ 4. 51423




Q.10

Ans
1.
2.
o 3.
4,
Q.11

Select the option that is related to the fifth word in the same way as the fourth word is related to the third word and the
second word is related to the first word.

ANT : ANTHILL :: DUCK : POND :: HORSE : ?
Ams 1. DEN

2. KENNEL
3. BEEHIVE
« 4 STABLE




Q.12

Ans

1
2. r
3. h
4. p
Q.13
Ans 1.
o 2.
3.
4,
Q.14
Ans 1. 2144139
2. 2133129
3. 2144129
4. 2145129
Q.15
Ans 1.
2.
o 3.




Q.16

Ans

2. 23
&3 33
443

Q.17

Ans

Q.18

Ans

Select the option that is related to the fifth letter cluster in the same way as the fourth letter cluster is related to the third
letter cluster and the second letter cluster is related to the first letter cluster.
TEA : ZBDFSU :: SIN : MOHIRT :: RIO : 7

« 1. NPHIQS
2. SQJHPN
3. SUDFZB
4 BDSHFK

Q.19

Ans

In the following question, select the missing number from the given series.

0,1,5, 14, 30,7
1 55

2. 57

3. /G

4. 69




Q.20

Ans

Section : Part-B-General Knowledge and General awareness
Q.1

Ans 1. badminton
2
3
4,
Q.2
Ans 1.
2
3.
4,
Q3
Ans

+ 1. Decibel (dB)

2.

3. Hertz (Hz)

4.




Q.4

Ans 1. south India
2. west India
3. north India
4. east India
Q.5
Ans 1.
2. Tamil Nadu
3. Assam
« 4. Telangana
Q.6
Ans 1. DDJ.}? I
+ 2 BothIandII
3. OnlyI
4. Neither I nor II
Q7
Ans 1. UNGA
2. UNESCO
« 3. UNDP
4. WHO
Qs
Ans f 1.
2.
3. Households with only one room with no solid walls and roof
4.
Q.9
Ans 1. Sanjay Kishan Kaul

" 2. S Abdul Nazeer
3. Sanjiv khanna

4. Bhushan Ramkrishna Gavai




Q.10 After independence, India launched its First FYP in 1951, under  influence of first Prime Minister Tawaharlal
Nehr.
Ans 1. socialist
2. capitalist
3.
4. Anarchism
Q11 In India, subject to the provisions of article 333, the Legislative Assembly of each State shall consist of not more than
members.
Ans 1.
2. six hundred
+ 3 five hundred
4.
Q.12
Ans 11810
« 2. 1809
3. 1808
4. 1811
Q.13
Ans 1. Kathak
2. Garba
3. Chhau
4. Kathakali
Q.14
Ans 1. Shehnai
2. Tabla
3. Ghatam
« 4 Flute
Q.15
Ans 1.
2.
3.

& 4.




Q.16

Ans 1. Neither I nor II

2. Only I
3. Only IT
« 4 Both I and IT

Q.17
Ans 1. Badminton
2.
3. Cricket
+ 4 Lawn Tennis
Q18 A tank called the NITI Aayog was established to advise the government.

Ans 1. ethical think
2.

3.

« 4. policy think

Q19 The Constituent Assembly adopted the constitution of India on
Ans 1

Q20 As per Census-2011,Which of the following states have the highest female literacy rate?

Ans 1

2. Tripura
« 3. Kerala
4. Mizoram
Q1 The simple interest received on a sum for 5 years is 2/5 of the sum. What is the annual rate of interest?
Ans 1. 12 percent

2. 10 percent

« 3. 8 percent

4. 9 percent




Q.2

Ans

+ 1. Rs. 3000
2. Rs. 3500
3. Rs. 2000
4. Rs. 2500

Q.3

Ans

The average of five numbers is 32. If one number is removed, then the average becomes 28. What is the removed
number?
« 1. 48
2. 52
3. 47
4. 49

Q.4

Ans

« 1. 121
2. 120
3. 123
4124

Q.5

Ans

Rs.8400 is divided among P,Q and R in the ratio of g: 3 % respectively. What is the share of R?

+ 1. Rs. 700
2. Rs. 1400
3. Rs. 900
4. Rs. 18000

Q.6

Ans

25 percent of 20 percent of a number is equal to 250. What is the 35 percent of that number?

« 1. 1750
2. 1650
3. 1560
4. 1570

Q.7

Ans

117
2. 29
3. 19
4. 33

Q.8

Ans

Selling price of a table is Rs. 6875. If profit percentage is 25 percent, then what is the cost price of table?

+ 1. Rs. 5500
2. Rs. 5000
3. Rs. 6400
4. Rs. 5200




Q.9

Ans 1.
2. 34 percent
& 3
4,
Q10 wWhat is the curved surface area of a cylinder having radius of base as 70 cm and height as 14 cm?
AN 15930 om?
2 6420 cm?
3 6350 cm?
¥4 6160 cm?
Q.11
Ans 1. Rs. 9000
2. Rs. 8760
3. Rs. 8700
+ 4 Rs. 8640
Q.12
Ans 10,0101
2.0.111
3. 0.005
4. 1.101
Q13 If the cost price of 6 pens is the same as the selling price of 5 pens, find the profit/loss percentage.
Ans 1. 20% loss
« 2. 20% profit
3. 10% profit
4. 10% loss
Q.14
Ans 1. 12%
2. 10%
¥ 3. 20%

4. 18%




Q.15

Ans 1 180
2. 240
3. 480
4120

Q16 Radius of a sphere is increased by 50 percent. What will be the percentage increase in its volume?

Ans 1.
o 2.
3.

4.

Q7 1f 45 percent of X is equal to 15 percent of Y, then what is the value of X : Y?

Ams 131
2.1:4
3.3:2

v41:3

Q.18

Ans 1 14.54
2. 15.60
3. 13.26
4. 17.82

Q.19

Ans f 1.

3.

4. 6 days

Q20 A train of length 384 metres crosses an electric pole in 12 seconds and crosses another train of the same length

travelling in opposite direction in 12 seconds. What is the speed of the second train?

Ans 139 m/s
2. 45 m/s

3. 25m/s

4 32 m's

Section : Part-D-English




Q1

Ans 1.
2. WNo error
3.
& 4.
Q.2
Ans 1. No error
2. in her lap
3.
4.
Q3

Ans 1. Masked

2. Granted
3. Replaced
« 4. Changed
Q4
Ans 1. lavish
2. scary
« 3. economical
4. plush
Q5
Ans 1
2.
3.

4. No improvement




Q.6

Ans

1. Bounded
« 2. Complete

3. Divine

4. Final

Q.7

Ans

1. In seventh heaven
2.
3.

4. Tost canse

Q.8

Ans

4

Q.9

Ans

Four sentences are given, out of which three have all correct spellings. Choose the sentence with the incorrect spelt
word/ words.
1.
Rosemary was from the middle of the middle class, catapulted by her mother onto the uncharted heights of Hollywood.
2. They had been two days in Paris but actually they were still under the beach umbrella.

3.
He walked on choking and would have marched directly up into the other party, but Abe stopped him.

v

Q.10

Ans

1. an

" 2. the
3. a

4. No article




QN

Ans 1. Wet
2. Hydrated
3. Saturated
« 4. Arid
Q.12
Ans o 1.
2.
3.
4.
Q.13
Ans 1.
2.

3. government involvement in the development and regulation

4. Wo error

Q14 Select the sentence with no spelling errors.

Ans 1.
There was acute disharmony in the room, where a little time before there had been at least an outward show
of harmonie.
2.
There was acute disharmony in the room, where a litle time before there had been at lest an outward show of harmony.

3.
There was acute disarmony in the room, where a little time before there had been at least an outward show of harmony.

4

There was acute disharmony in the room, where a little time before there had been at least an outward show of harmony.

Q.15

Ans 1. will die
2. will death
3. No improvement

4. shall dies




Comprehension:

SubQuestion No : 16

Q.16
Ans 1. signing
2. standing
3. jumping
« 4. opening
Comprehension:
SubQuestion No : 17
Q.17

Ans 1 grasp
2. host
3. loathe

4. remiss

Comprehension:

SubQuestion No : 18
Q.18
Ans 1. Whilst
2. What
3. Whence
4. As




Comprehension:

SubQuestion No : 19

Q.19
Ans 1. divisions
2. hordes
« 3. chunks
4. pecks

Comprehension:

SubQuestion No : 20

Q.20
Ans 1. disaster
2. banality
« 3. captivity
4. greenery

Q.1

Ans 1. hH
2 affen
3. UH

v 4 g

Section : Part-D-Hindi

fGU TIU 2eq 1 YT™gard! J1d S|




Q.2

Ans

AT 99 H, I [S5cdr # ¥, 37 Fel [9Feq &1 o0 &{ J I=Fanit & e va e F1 [de
gl
SeravdaFar

. FegHiTer
¥ 2 TIRUTIor
3. g
4 g

Q.3

Ans

fa=fofT vea #, a1 Reeat & @, 39 ReeT &7 997 ¢ o Rog oo & @ 858 =g e
e 2l
T HH T geel GaNT % e R off YR & F1T FF S F ¥ F oaia G T g

1. HedHd
=
2 formr

v USEIR
4. HETTA

Q.4

Ans

ffafea vo7 &, T 717 aw et # @, 37 Ree &1 799 & 3 T o0 g & a7
FIASS §T T eOad LT gl

Foo] HreT LT
1.3@3@@
V2 g g
5. g@rer &rF BT
4. el giar

Q.5

Ans

T aa 9o A, 91X @Fcar # ¥, 39 TFheT 7 999 F{ AT #i5s H 8T 7T 2eg & I8 &
e RaeT &
EH ZHA FEHT HTOTs ST A1feT 31 (3IF[=) =]
-1
v 2 HEETOT

=
3. e
4. 3TROT

Q.6

Ans

[T TU 19y ¥ Y@ifdd 2eg &l [9dd sg J1d Hifog |

g e ¥ S &1 a1t
1, zﬁgm:[

v 2 i
> Bl
4. ST




Q7

Ans

frafead Uy #, lGU U 9R fadhedl # 9, 39 fdded o1 9g+ &1 ol [§U T8 HgTaN & 372 o] a9y ¥ o oo
H g

e = %
1. ﬁqm
2. g gl
3. SO gl
4 gl ol = THEHT

Q.8

Ans

frafof@a gea #, a1 Reedt # ¥, 39 fFey &1 79w w3 e wue & e a@@r gioder & amer
e &l
ﬁ%ﬁrmﬁmmmﬁ, Fr IOF HTF

. gr e a1

2 e
v 3 HIHERT
4 T

Q.9

Ans

frafaf@e ag &, 33 areanyr # sgafa Sad mmst @ gefg wefer § 3t #18 od 78 ¢
ar 'ws I 78 & IoAa Fie]

ety e SEIT $hgl AT @1 oaH 3ES TR §AT 3EE FA 7 @1, WG 38 SHA FAT AW T
& & 2l

1. Y wE 3 FA T @, WG 30 I3H

2 AT EHT T & War &
v 3. oely O SOl ST aT & S| H 38y

. W e ¥

Q.10

Ans

AT ve7 7, a1 foeedl # ¥, 39 FaeT &1 999 #{ = o9 o9 & BT §@r o= aen
e 2l
TRT F AARST o far 37 §ohar § 99T oo A9 & ofr 9era I TEaT B

> e
3. e
v 4 qnfy




Q1

Ans

feT 717 I # e e A9 Fifav
gH Al H8 ¥ TE-9eX H @ &1 3 I g AT

1. a;ﬁ-

« 2. dci-Ucd
3. &hd
4. grq

Q.12

Ans

few a1v arem # W@ifed e & BT #@gr aga1 99 fifFw)
TS+ =i gr =R

1.;ﬂ-@-

2 =ifg

v 3 =g

4. =gr

Q.13

Ans

r=faeT vea &, 9X Reedt # @, 30 BT &7 999 &1 3 s & BU 70 95 & ey e
F Her e & 1
=T 9 TH O Fr @ 7 (e IT F T AT g T

. g
2. S
v 3 Hud
‘. ST

Q.14

Ans

[T 71U TTeg &1 ydigar] J1d Sifog|

qfega
1 Irdr
o 2. ;\;ﬂ

3.1\?”
4 3R

Q.15

Ans

faT 71T a1e 1 98 HITT 1A &, forH Pig 3fe B
gierg < IR & 5 | SMRII< &1 U o]

- ST Bl
72 S YA H

3 giorg A IR

4 U ferT|




Comprehension:

A T 1 sgany # 5o o o G T §, ve geoe & W 9N feew fiw aw §) 5w
T F CAAEH ¢ HX AR Repedt F & Falead 3cat aen e Io

T ERT # 3 § SHITT Tal 9cde & Teh cdigl & &9 & SATET g1 "F FT et &
mﬁaaqﬁa%wﬁrmmﬁqaﬁﬁmmmwmwm%wmﬁ
T F OER & a7 T off ST ST 21 &6 & IR &g ﬂ:marmarﬁm?»r a‘naﬁﬁr AT,

HTEToaT, FarsT ST F$ ot F of

maﬁﬁmﬂﬁmﬁmﬂsﬂaﬂaﬂmﬁaﬁ

A H
¥ AT T E| Tpia ot TH TWE F I

ER F FfEAfea g 8 9 AR T A g R Y e #=g

T 81 T FRAT T

e FER &, 3 T Wl wr vw gy ¥ o Tee gel-gel 5w cier @ A ) 5w R A
U At & B A Qe A off 39 T St # sew S g1 sHifoe gelr & FT FAER
o g7 AT §1 TW A ST g F gl FT AR R IS § AT S T gl OEe # AR 08 W
y=ors §1 T F IiF & 9 F AIT 0T &, Y & I AS-ATT 7o g T

SubQuestion No : 16

SRA IgRI &1 327 § TUITIT T@T IodF 6ol Uh digR & &7 H
Ans 1. T
2. ﬂ?ﬂ'&T

5. fe@mar

o 4 HelTdT

STar g

Comprehension:

A T a3 sgamr # $o weg o ¥ 90§, 93% He=oe & HAA 9N fS@ed U AT 2| 3H
T F CAAEF ¢ A TR Fepedt #§ & Falead 3ea? aron Fehed I

T TERT FT 3 ¢ SHIT Tar I3+ & UF O & §T & AT §1 ST FT el F
er e sl 1 g =1 cER R o # Famr = aen gE §e9d 99 AR & §9 AR &
T F AER F 7H T off FAT A1 g1 gl T FOER 9T F TIU-ATY FJ9Te, SRy, A,
e, FarsT JW FF 2 + ofr g1 57 ORER Fr @A = F @6 A9 & T8 7 ar
3T JAT HT ATel dTel olleT o SH cAER H g5 B A o §| Ui off th R ¥
ER ¥ wfFAfoa @ 8 9 AR T RE oo R T svT w=g e B T8 g sea
e RN g, 36 &t Wil AT Ue gail @ e fAeey gel-gel 36 e & A4 &1 36 ER A
o AfFa € B e QU gt off 3@ foF e 7 sew S 71 sdfow g FT CORR
off &gT 7T §1 ¥ A Sar § 5 gl & ciEr geR aNt & FAar S @ gl gl % cdigR g0 W
¥=ore T AT F IdF & T F JAA ST g, T & T AA-ATT 7 5T IS+ g

SubQuestion No : 17

QU7 2 1 RN SRE & FU-ATY U, SRR, FANE, WO, FAsT S FS i g ey
gl

Ans 1 ﬁlﬁ'l?—l’
2 faEqe

o Rt
v 4 gfle




Comprehension:

A T 1 sgany # 5o o o G T §, ve geoe & W 9N feew fiw aw §) 5w
T N AAEF 5 HY AR Repedt F & FaleaH 3ea¥ aon e I

R cOIERT 1 32 § SHTIT T@T Tedeh & T Ol & &7 H AT §| 9T FT g &
mﬁaaﬁa%wﬁrm—mﬁT%‘qaﬁﬁmmwwmwm%wmﬁ
T F OER & a7 T off ST ST 21 &6 & IR &g ﬂ:marmarﬁm?»r a‘naﬁﬁr AT,
HTEToaT, FarsT ST F$ ot F of JAT H ar
maﬁﬁmﬂﬁmﬁaﬁsﬁsﬂaﬂmﬁaﬁr ¥ A T §| Tpia off T TRE §
e # wfEAfea g &) aRt AR T R e Rew T s wg Ferdr g1 TE GRWE Fea
oM RN &, 3F T Tl o v gEy @ A e geh-geh 5 R # A4 §) 56 en &
U At & B A Qe A off 39 T St # sew S g1 sHifoe gelr & FT FAER
o T AT §1 TW A ST g gl FT AR g IS § ASTr S G g1 e # N s W
y=ors §1 T F IiF & 9 F AIT 0T &, Y & I AS-ATT 7o g T

SubQuestion No : 18

OB EmE F A 3T uE B mES T 99T S 5§ ORR & a9 ¥ Ha= o F
Ans 1_ﬂm

v 2. UHUTH

3. UAdTT

4. UgETA

Comprehension:

A QT a3 sgam # $o weg oF Y 90§, 939% Heeoe & "R 9N feed U aw 2| 3W
T F AAIESH ¢ A AR et F & Falead 3ca¥ aen e I

T TERT FT 3 § SHT T8 I3 & TF O & §T & AT &1 ST FT gl FT
Wﬁaaqﬁm%lgﬁrm—m@?%@aﬁﬁmmmwmwmbwmﬁ
T F OER & a7 T off S S g1 gl & cAEN Hd & TIY-EY 9T, SEdee, A,
o, FaET SV Fe T Fofr . T o7 OER & §:f T99T & oFT AAT & T9AT H A
3T UAT T AT I AT & 57 RN I ¥ 7 o &l I off T e T I
e # wfEafad @ 81 ant 3R o7 R oo Riw w0 swa w=1g T &1 TE g Fea
e THER &, 3% R Tl o v g@y F e e ge-geh 5w R # A €1 5§ en &
T Al § T U G off 3@ foF aedr # e S g1 sHifoe gl & F TIRR
o FgT AT §| TH A S g F ger FOARR IR a8 § A S G gl Fer 1 AR g0 W
¥=oE T AT F IdF & T F JAA G g, T & T AA-ATT 7 5T IS+ g

SubQuestion No : 19

Q.19 w %_l
Ans P ?%ﬁ:‘.ﬁ

4. el
By




Q.20

Ans

Comprehension:

A RGT a3 Tga A $o weg oF ¥ 0 §, 93% HeeoE & "R 9N fGeed fOU AT 2| 3H
TEHTY N AAEF T HY AR RBepedt F & Falead 3ea¥ aen e I

T TTERT FT 3 § SHT T8 93+ & U O & §T & AT §1 ST FT grel F
mﬁmaﬁa%aﬁrmm%‘qaﬁﬁmmwwmwm%wmﬁ
T F OER & a7 T off a1 S 21 &6 & JER &g é:marrurrzrﬁm?»r Wﬂﬁsr AT,
HTECTomT, FasT S0 FF o + of I T H ar
maﬁﬁmﬂﬁmﬁaﬁsﬁsﬂaﬂmﬁaﬁr T 7 T §| Iy off v g ¥ 5w
R #F wfEAfea g &) IR AR T R e R T s wg e g1 TE GRET Fea
oM RN &, 3F T Tl o v gEy @ A e geh-geh 5 R # A4 §) 56 en &
o At & B e quer g off 3@ foF e F gew S g1 sdfow gl & FT AER
o g7 AT §1 TW A ST g gl FT AR g IS § ASTr S G g1 e # cEN s W
y=ors §1 T F IiF & T F AIT ST §, Y & I AS-AFT 7o g T

SubQuestion No : 20

siifaw gt r 7 g & ar I g
ATy
2 Fare
3. qIeAT STAEr

v






